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A. GENERAL
1. Please read the Instructions carefully, You are allotted 10

minutes specially for this purpose.
2. Blank papers, clip boards, log tables, slide rule, calculators,

mobiles or any other electronic instrument in any
form is “NOT PERMISSIBLE”.

3. Before starting the paper, fill up the required details in the blank
spaces provided in the answersheet.

4. Using a Blue/ Black Pen, darken the  circle on the OMR sheet.
5. DO NOT TAMPER WITH/MUTILATE THE OMR OR THE

BOOKLET.
6. No rough sheets will be provided by the invigilators. All the

rough work is to be done in the blank space povided in the
question paper.

B. FILLING THE RIGHT PART OF THE OMR
7. Write your Name and the Father’s name in the boxes provided

on the right part of the OMR. Do not write any of this
information anywhere else. Darken the appropriate circle under
each digit of your Roll Number and Test ID Number.

8. Do not fold or make any stray marks on the Answer Sheet.
9. On completion of the test, the candidate must hand over the

Answer Sheet & Test Booklet to the Invigilator on
duty in the Room / Hall.

10. Follow instructions by invigilator/Centre Superintendent (If
any).

11. Please fill in all the correct information on back page of this
paper.

C. QUESTION PAPER FORMAT :
This Question Paper consists of 70 objective type questions.

D. MARKING  SCHEME :
— 4 Marks will be awarded for each correct answer.
— 1 Mark will be deducted for each incorrect answer.
— 0 Marks will be awarded for unattempted questions

INSTRUCTIONS
CLASS: 7 (MOVING TO CLASS 8)

Name of the Candidate

I have read all the instructions and shall
abide by them

................................................................
Signature of the Candidate

DATE : 10 DEC 2023           DURATION: 2 HRS.       MARKS: 280

TEST ID-161

Candidate Roll No.

I have verified all the information filled in by
the Candidate

................................................................
Signature of the Invigilator

v lkekU;
1 - dì;k funsZ”kksa dks /;kuiwoZd if<+,] blds fy, vkidks 10 feuV

fo”ks’k le; fn;k x;k gSA
2- [kkyh dkxt+] fDyi cksMZ] ykWx lkj.kh] LykbM :y] x.kd ;a=]

eksckby ;k fo|qr midj.k dks ys vkuk l[r euk gSA
3- iz”uksa dks gy djus ls igys mRrj i=d esa [kkyh txgksa dks Hkfj,]

tgk¡ lwpuk,¡ ek¡xh x;h gSaA
4- vks-,e-vkj- dkxt+ esa fn, x, xksyksa dks uhys@dkys dye ls

Hkfj,A
5- vks-,e-vkj- ;k iz”u iqfLrdk dks eksM+s ugha] QkM+s ughaA
6- d{k fujh{kd }kjk jQ dkxt+ iznku ugha fd;k tk,xkA lHkh jQ

dk;Z iz”u iqfLrdk esa fn, x, [kkyh txg ij dhft,A
c vks-,e-vkj- dh lgh Hkkx dks Hkjuk
7- vks-,e-vkj- “khV ds nkfgus rjQ fn, x, txg esa] viuk uke ,oa

vius firk dk uke fy[ksaA bl izdkj dh lwpuk  dgha vkSj u
fy[ksaA vius vuqØekad la[;k ds ,d&,d vad dks xksyk djsa vkSj
VsLV vkb-Mh- dh la[;k dks xksyk Hkfj,A

8 - mRrj if=dk dks eksM+s ugha] ;k dksbZ fpUg u yxk,A
9 - ijh{kk lEiw.kZ gksus ds ckn vH;FkhZ dks mRrj if=dk ,oa iz”u iqfLrdk

d{k fujh{kd dks lkSiuk gksxk tks fd ml le; dejs@gky esa vius
drZO;ksa dk fuoZgu dj jgs gksaxsA

10 - ;fn d{k fujh{kd@dsUnz v/kh{kd dksbZ funsZ”k nsrs gSa] rks mu funsZ”kksa
dk vuqlj.k dfj,A

11 - dì;k bl iz”u iqfLrdk ds ihNs lHkh lgh lwpukvksa dks Hkfj,A
l iz”u&i= izk:i

bl iz”u&i= esa 70 y?kqfodYih iz”u fn, x, gSaA
n vad iznku ;kstuk

Û izR;sd lgh mRrj ds fy, 4 vad fn, tk,xsaA
Û izR;sd xyr mRrj ds fy, 1 vad ?kVk fn, tk,xsaA
Û ;fn iz”u gy ugha fd, x,] rks “kwU; fn;k tk,xkA

PAPER
(2023-24)



      MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur.  PH.  6389138701 # 1

MOMENTUM TALENT SEARCH EXAM

1. Which of the following conversions is
true?
(A) 100 millimetres = 1 metre
(B) 100 metre = 1 kilometre
(C) 1000 millimetres = 1 metre
(D) 10 millimetres = 1 metre

2. If the mean solar day is divided into
24 equal intervals, then what do you
call each interval?
(A) minute (B) second
(C) hour (D) day

3. Which type of motion is described by
a coin in a carrom board?
(A) Curvilinear motion
(B) Circular motion
(C) Vibratory motion
(D) Rectilinear motion

PART-I (SCIENCE)
(PHYSICS)

Hkkx&1 ¼foKku½
¼HkkSfrd foKku½

1 - fuEu esa ls dkSu lk ifjorZu lR; gS\
(A) 100 feyhehVj = 1 ehVj
(B) 100 ehVj = 1 fdyksehVj
(C) 1000 feyhehVj = 1 ehVj
(D) 10 feyhehVj = 1 ehVj

2 - ;fn ek/; lkSj fnu dks 24 leku varjkyksa
esa foHkkftr fd;k tk,] rks vki çR;sd
varjky dks D;k dgrs gSa\
(A) feuV (B) lsdsaM
(C) ?kaVk (D) fnu

3 - dSje cksMZ esa flDdk fdl çdkj dh xfr
dk o.kZu djrk gS\
(A) oØh; xfr
(B) foRrkdkj xfr
(C) daiu xfr
(D) lh/kh js[kk xfr

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
4. Which of the following relation is true

regarding the magnitude of distance
and displacement?
(A) Displacement   Distance
(B) Displacement = Distance
(C) Displacement   Distance
(D) Displacement > Distance

5. Which of the following is a pulling
force?

(A) (B) 

(C) (D) 

4 - nwjh vkSj foLFkkiu ds ifjek.k ds laca/k esa
fuEufyf[kr esa ls dkSu lk laca/k lR; gS\
(A) foLFkkiu   nwjh
(B) foLFkkiu ¾ nwjh
(C) foLFkkiu   nwjh
(D) foLFkkiu > nwjh

5 - fuEufyf[kr esa ls dkSu lk [khapus okyk
cy gS\

(A) (B) 

(C) (D) 

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
6. Which of the following is the correct

expression for kinetic energy?

(A) K.E. = 
11
2

 mv2

(B) K.E. = mv2

(C) K.E. = 
1
2

 mv2

(D) K.E. =  
1
2

m2v

6 - xfrt ÅtkZ ds fy, fuEufyf[kr esa ls
dkSu lk lgh vfHkO;fä gS\

(A) xfrt ÅtkZ = 
11
2

 mv2

(B) xfrt ÅtkZ = mv2

(C) xfrt ÅtkZ = 
1
2

 mv2

(D) xfrt ÅtkZ =  
1
2

m2v

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
7. Which of the following options is

grouped wrongly?

(A) 

(B) 

(C) 

(D) 

7 - fuEufyf[kr esa ls dkSu lk fodYi xyr
rjhds ls lewgh—r fd;k x;k gS\

(A) lekukUrj izdk”k

    

(B) vilkjh izdk”k

       

(C) vfHklkjh izdk”k

     

(D)    ,d izdk”k fdj.k
    

Space for rough work
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8 - lery niZ.k esa oLrq ds vkdkj vkSj izfrfcEc

ds vkdkj dk vuqikr D;k gS\
(A) 1 : 1 (B) 2 : 1
(C) 1 : 2 (D) 3 : 1

9 - nks yxkrkj laihM+u ;k nks yxkrkj fojyu
ds chp dh nwjh gS %
(A) vkof̀Ùk (B) vk;ke
(C) xfr (D) rjax nS/kZ~;

10- 'kwU; dk;Z dh fLFkfr esa cy rFkk foLFkkiu
ds chp dk dks.k gksrk gS
(A) 0° (B) 60°
(C) 90° (D) 180°

Space for rough work

8. What is the ratio of size of object to
size of image in a plane mirror?
(A) 1 : 1 (B) 2 : 1
(C) 1 : 2 (D) 3 : 1

9. The distance between to consecutive
compressions or two consecutive
rarefaction is:
(A) frequency (B) amplitude
(C) speed (D) wavelength

10. In case of zero work, the angle between
the force and displacement is
(A) 0° (B) 60°
(C) 90° (D) 180°
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11. Which gas is taken by plant to prepare
their food
(A) oxygen (B) Nitrogen
(C) carbondioxide (D) Hydrogen

12. Removal of water from plant bodies
in the form of vapours is called.
(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Condensation

13. Changes in which heat is liberated are
called–
(A) exothermic change
(B) endothermic changes
(C) rapid change
(D) None of these

(CHEMISTRY) ¼jlk;u foKku½

11. ikS/ks viuk Hkkstu cukus ds fy, dkSu lh
xSl xzg.k djrs gS A
(A) vkWDlhtu (B) ukbVªkstu
(C) dkcZu MkbZ vkDlkbM (D) gkbMªkstu

12. ikni 'kjhj ls ty dk ok"i ds :i es
fudyuk dgykrk gS \
(A) çdk'k laÜys"k.k
(B) 'olu
(C) çLosnu
(D) la?kuu

13. og ifjorZu ftles m"ek mRlftZr gksrh gS
mls dgrs gS \
(A) m"ek{ksih
(B) m"ek'kks"kh
(C) Rofjr ifjorZu
(D) bues ls dksbZ ugh

Space for rough work
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:

14. Which of the following is obtained
from Natural resources?
(A) Wool (B) Nylon
(C) Polyster (D) Acrylic

15. The meaterial which has luster
(A) Iron (B) wood
(C) rubber (D) Plastic

16. The process used for separation grains
from stalk is
(A) Winnowing (B) Sieving
(C) Harverting (D) Threshing

17. Which is an example of a physical
change?
(A) Rusting of iron
(B) Burning of wood
(C) Bent wire
(D) Cooking egg

14. fuEufyf[kr es dkSu çkd̀frd óksrks ds }kjk
çkIr fd;k tkrk gS
(A) Åu (B) uk;ykWu
(C) iksfyLVj (D) ,fØfyd

15. og inkFkZ ftles ped gksrh gS \
(A) yksgk (B) ydM+h
(C) jcj (D) IykfLVd

16. MaBy ls vukt dks vyx djus ds fy,
fdl çØe dk ç;ksx djrs gS \
(A) QVduk (B) Nk¡Vuk
(C) nksgu (D) xgkbZ

17. HkkSfrd ifjorZu dk mnkgj.k dkSu gS\
(A) yksgs esa tax yxuk
(B) ydM+h dk tyuk
(C) rkj dk eqM+uk
(D) v.Ms dk iduk

Space for rough work
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18. What is the most abundant element in

the earth’s atmosphere?
(A) Hydrogen
(B) Nitrogen
(C) Carbon dioxide
(D) Neon

19. The maximum number of electrons that
can be accommodate in second shell
of an atom is:
(A) 32 (B) 18
(C) 8 (D) 2

20. Identify the raw material for making
soft soap.
(A) Sodium carbonate
(B) Alcohol
(C) Potassium hydroxide
(D) Finely ground pumice stone

18. iF̀oh ds okrkoj.k esa dkSu lk rRo lokZf/kd
ik;k tkrk gS
(A) gkbMªkstu
(B) ukbVªkstu
(C) dkcZuMkb vkDlkbM
(D) fuvkWu

19. nwljs dks”k esa vf/kdre fdrus bysDVªkUl
j[ks tk ldrs gS
(A) 32 (B) 18
(C) 8 (D) 2

20. ml dPps inkFkZ dks igpkfu, ftuls eǹq
lkcqu cuk;k tkrk gS
(A) lksfM;e dkcksZusV
(B) ,Ydksgy
(C) iksVsf”k;e gkbMªkDlkbM
(D) ckjhd filk gqvk iRFkj

Space for rough work
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21. Saprotrophs consume food from
(A) Green plants
(B) Living animals
(C) Dead and decaying matter
(D) None of these

22. Lichens are the symbiotic association
(A) Bacteria and fungi
(B) Algae and Fungi
(C) Fungi and animals
(D) Animals and plants

23. Stomata present on-
(A) Leaves surface (B) Stem surface
(C) Root surface (D) Fruit surface

(BIOLOGY) ¼Tkho foKku½
21- er̀iksf’kr Hkkstu dk lsou djrs gSa

(A) gjs ikS/ks
(B) thfor tkuoj
(C) er̀ vkSj {k;dkjh inkFkZ
(D) buesa ls dksbZ ugha

22- ykbdsu lgthoh la?k gSa
(A) cSDVhfj;k vkSj dod
(B) 'kSoky vkSj dod
(C) dod vkSj tkuoj
(D) i'kq vkSj ikS/ks

23- ja/kz mifLFkr gksrs gSa&
(A) ifÙk;ksa dh lrg (B) rus dh lrg
(C) tM+ dh lrg (D) Qy dh lrg

Space for rough work
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24. The finger like protection for

absorption of food located in
(A) Mouth (B) Small intestine
(C) Oesphagus (D) Large intestine

25. Amoeba performs movement and
capture food through
(A) Pseudopodia (B) Cilia
(C) Pilli (D) Flagella

26. Chemical digestion of starch starts in
(A) Stomach (B) Mouth
(C) Small intestine (D) Pancrease

27. Which mechanism of respiration
produces more energy-
(A) Aerobic Respiration
(B) Anaerobic Respiration
(C) Fermentation
(D) All the above

24- Hkkstu ds vo'kks"k.k ds fy, maxyh tSlh
lajpuk fLFkr gksrh gS
(A) eqag (B) NksVh vkar
(C) xzkluyh (D) cM+h vkar

25- vehck fdlds }kjk xfr djrk gS vkSj
Hkkstu dks xzg.k djrk gS
(A) L;wMksiksfM;k (B) flfy;k
(C) fiyh (D) ¶ySxsYyk

26- LVkpZ dk jklk;fud ikpu çkjaHk gksrk gS
(A) isV (B) eq¡g
(C) NksVh vkar (D) vXU;k'k;

27- 'olu dh dkSu lh fØ;kfof/k vf/kd ÅtkZ
mRiUu djrh gS&
(A) ok;oh; 'olu
(B) vok;oh; 'olu
(C) fd.ou
(D) mijksä lHkh

Space for rough work
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28- Hkkjh O;k;ke ds nkSjku iSjksa@gkFkksa esa fdlds

teko ds dkj.k ,saBu gksus yxrh gS
(A) dkcZu Mkbv‚DlkbM
(B) ySfDVd ,flM
(C) ikuh
(D) 'kjkc

29- lk¡l ysrs le; ilfy;k¡&
(A) ckgj dh vksj c<+rh gS
(B) uhps dh vksj c<+rh gS
(C) Åij vksj ckgj dh vksj c<+rh gS
(D) fcYdqy Hkh ugha fgyrh gS

30- yky jä dksf'kdkvksa esa yky jaxæO;
dgykrk gS
(A) gheksXyksfcu (B) DyksjksfQy
(C) ØkseksfQy (D) mijksä lHkh

28. During heavy exercise, we get cramps in
the legs/hands due to accumulation of
(A) Carbon dioxide
(B) Lactic Acid
(C) Water
(D) Alcohol

29. During inhalation the ribs-
(A) Move outwards
(B) Move downwards
(C) Move upwards and outwards
(D) Do not move at all

30. The red blood cells have red pigment
called
(A) Haemoglobin (B) Chlorophyll
(C) Chromophyll (D) All the above

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

31. The rational number 18
5

  lies between

the consecutive integers
(A) –2 and –3 (B) –3 and –4
(C) –4 and –5 (D) –5 and –6

32. The rational form of 2.6  is

(A) 
1
3 (B) 

7
3

(C) 
8
3 (D) 

5
3

33. The value of 
4 7 83 2 4
5 10 12
  is:

(A) 
68
15 (B) 

6
5

(C) 
67
6 (D) 

7
10

PART-II (MATHEMATICS) Hkkx&2 ¼xf.kr½

31. ifjes; la[;k; 18
5

  fdu nks Øekxr

la[;kvksa ds chp fLFkr gksxkA
(A) –2 vkSj –3 (B) –3 vkSj –4
(C) –4 vkSj –5 (D) –5 vkSj –6

32. 2.6  dk ifjes; :i gS%&

(A) 
1
3 (B) 

7
3

(C) 
8
3 (D) 

5
3

33.
4 7 83 2 4
5 10 12
   dk eku gS%

(A) 
68
15 (B) 

6
5

(C) 
67
6 (D) 

7
10

Space for rough work
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34. 1
11 12

3




 = ?

(A) 
1
6 (B) 

3
10

(C) 
7

10 (D) 
5
6

35. In the figure, PQ is parallel to ST. AB
is a straight line. Find BST.

(A)110 (B) 125°
(C) 152° (D) 98°

34. 1
11 12

3




 = ?

(A) 
1
6 (B) 

3
10

(C) 
7

10 (D) 
5
6

35. fp= esa PQ : ST ds lekukUrj gSA AB ,d
lh/kh js[kk gSA BST Kkr dhft,A

(A)110 (B) 125°
(C) 152° (D) 98°

Space for rough work
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36. The value of

 2 2 22 8 15x y xy z xyz z
3 15 4

               
     

is

(A) 4 4 44 x y z
9

 (B) 4 4 44 x y z
9

(C) 3 3 34 x y z
9

 (D) 3 3 34 x y z
9

37. The value of (–8) × (–8) × (–8) × (–8)
× (–8) + (–8) × (–8) × (–8) × (–8) ×
(–8) is
(A ) –2(8)5 (B) –(2)16

(C) –(4)8 (D) All of these

38. Which of the following numbers is in
the scientific notation?
(A) 1.26×10–5 m
(B) 15.75×103 km
(C) 0.18 × 10–7km
(D) 0.0013 ×10–8 km

36.  2 2 22 8 15x y xy z xyz z
3 15 4

               
     

dk eku gSA

(A) 4 4 44 x y z
9

 (B) 4 4 44 x y z
9

(C) 3 3 34 x y z
9

 (D) 3 3 34 x y z
9

37.  (–8) × (–8) × (–8) × (–8) × (–8) + (–8)
× (–8) × (–8) × (–8) × (–8) dk eku
D;k gS
(A) –2(8)5 (B) –(2)16

(C) –(4)8 (D) ;s lHkh

38. dkSu lh la[;k oSKkfud lkadsfrd esa gS
(A) 1.26×10–5 eh0
(B) 15.75×103  fdeh0
(C) 0.18 × 10–7km fdeh0
(D) 0.0013 ×10–8 km fdeh0

Space for rough work
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39. The value of

1 1 1 1 1
15 35 63 99 143

     is

(A) 
5

39 (B) 
4

39

(C) 
2

39 (D) 
7
39

40. If AOC = 3x –70 and COB = 3x +
40, then the value of x is

(A) 70° (B) 35°
(C) 65° (D) none of these

41. 3 1 3 5 7 .... 53      = __.
(A) 11 (B) 13
(C) 7 (D) 9

39.
1 1 1 1 1

15 35 63 99 143
     dk eku gSA

(A) 
5

39 (B) 
4

39

(C) 
2

39 (D) 
7
39

40. ;fn AOC = 3x –70 vkSj COB = 3x
+ 40 rc x dk eku D;k gksxkA

(A) 70° (B) 35°
(C) 65° (D) buesa ls dksbZ ugha

41. 3 1 3 5 7 .... 53      = __.
(A) 11 (B) 13
(C) 7 (D) 9

Space for rough work



      MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur.  PH.  6389138701 # 16

MOMENTUM TALENT SEARCH EXAM

42. If 
58x

x
  = 31, then which of the

following can be the value of x ?
(A) 529 (B) 931
(C) 729 (D) 841

43. Simplified form of
   

   

p q p q

p q p q

1 1p p
q q

1 1q q
q q

 

 

              
              

 = _____.

(A) 
2q

p
q
     

(B) 
2q

q
p

     

(C) 
p

p
q
     

(D) 
q

q
p

     

44. If (a + b + c)2 = 36, ab + bc + ca = 11
and a, b, c  N, then find a2 + b2 + c2.
(A) 17 (B) 22
(C) 14 (D) 6

42. ;fn 
58x

x
  = 31 rc fuEu esa ls ‘x’

dk eku dkSu lk gksxk \
(A) 529 (B) 931
(C) 729 (D) 841

43. fuEu dk ljyre :i gksxk&

   

   

p q p q

p q p q

1 1p p
q q

1 1q q
q q

 

 

              
              

 = _____.

(A) 
2q

p
q
     

(B) 
2q

q
p

     

(C) 
p

p
q
     

(D) 
q

q
p

     

44. ;fn (a + b + c)2 = 36, ab + bc + ca =
11 vkSj a, b, c  N rc a2 + b2 + c2 Kkr
djsa
(A) 17 (B) 22
(C) 14 (D) 6

Space for rough work
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45. If p(x) = (x + 6) 5, q(x) = (x + 6)q

(x – 4)6 and LCM of p(x) and q(x) is
(x – 4)6(x + 6)q, then the find the
maximum vlaue of (p – q).
(A) –1 (B) 0
(C) 1 (D) 11

46. If two numbers are in the ratio 
1 1:

15 20 ,

then by what percentage is the second
number less than the first?
The following steps are involved in
solving the above problem. Arrange
them in  sequential order.
(A) Difference between the two number
is 4x – 3x = x.
(B) Given that the ratio of two numbers

=
1 1: 20 :15 4 :3

15 20
  .Let

the numbers be 4x and 3x.
(C) The percentage by which the
second number is less than the first

number = x
4x

100% = 25%.

(D) i.e. the second number is x les than
the first number
(A) BADC (B) BDAC
(C) DBAC (D) ABCD

45. ;fn p(x) = (x + 6) 5, q(x) = (x + 6)q

(x – 4)6 vkSj p(x) vkSj q(x) dk LCM
(x – 4)6(x + 6)q, rc (p – q) dk vf/
kdre eku gksxk
(A) –1 (B) 0
(C) 1 (D) 11

46. ;fn nks la[;kvksa dk vuqikr 
1 1:

15 20  gS]

rc nwljh la[;k igyh la[;k dh fdruh
izfr”kr gksxh\
mijksDr iz”u dks gy djus ds fy, vko”;d
fof/k fuEu inksa esa nh x;h gS] bu inksa dk
mfpr Øe gksxk
(A) nks la[;kvksa dk vUrj gS 4x – 3x = x
(B) nh x;h la[;kvks a dk vuqikr gS

1 1: 20 :15 4 :3
15 20

   ekuk la[;k,a

4x o 3x gSA
(C) nwljh la[;k igyh la[;k ls izfr”kr

esa de gksxh 
x

4x
100% = 25%

(D) vFkkZr nwljh la[;k igyh la[;k ls x
de gSA
(A) BADC (B) BDAC
(C) DBAC (D) ABCD

Space for rough work
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47. The total expenditure of a school on

certain consumable items was found to
be Rs. 50,650 in the year 1972. If the
cost of living index for the year 1975,
taking 1972 as the base year is 162.8,
then the expenditure of the school in
1975 is___.
(A) Rs. 82,458 (B) Rs. 82,458.20
(C) Rs. 82,458.40 (D) Rs. 82,458.10

48. ABC is congruent to XYZ. Find
the measures of x and y..

(A) x = 80 , y = 60
(B) x = 60 , y = 40
(C) x = 80 , y = 40
(D) x = 60 , y = 80

47. dqN miHkksX; oLrqvksa ij ,d fo|ky; dk
dqy O;; o’kZ 1972 esa 50]650 :i;s ik;k
x;kA ;fn o’kZ 1975 ds fy, jgus dh
ykxr lwpdkad 1972 dks vk/kkj o’kZ ds :i
esa 162-8 gS] rks 1975 esa Ldwy dk O;;
____ gSA
(A) :i;s 82,458 (B) :i;s 82,458.20
(C) :i;s 82,458.40 (D) :i;s 82,458.10

48. ABC, XYZ ds le:i gSA x vkSj
y dk eku Kkr dfj,

(A) x = 80 , y = 60
(B) x = 60 , y = 40
(C) x = 80 , y = 40
(D) x = 60 , y = 80

Space for rough work



      MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur.  PH.  6389138701 # 19

MOMENTUM TALENT SEARCH EXAM
49. The sum of 10 observations is 250. If

one observation, 25 is deleted, what is
the new mean?
(A) 25 (B) 20
(C) 28 (D) 22

50. If the ratio of areas of two circles is
16 : 25. What is the ratio of their
circum-frences?
(A) 25 : 16 (B) 5 : 4
(C) 4 : 5 (D) 3 : 5

51. The angles of a triangle are x ,

(2x 5)   and (3x 5)  .  Find the
largest angle.
(A) 180 (B) 65
(C) 85 (D) 30

52. If PQR  XYZ, which of the
following is correct?
(A) YZ = QR (B) XY = PR
(C) XY = QR (D) YZ = PQ

49. 10 izs{k.k dk ;ksx 250 gSA ;fn ,d izs{k.k
25 dks gVk;k tk, rks ek/; D;k gS\
(A) 25 (B) 20
(C) 28 (D) 22

50. ;fn nks oR̀r dk {ks=Qy vuqikr 16 : 25
gSA rks muds ifjf/k;ks dk vuqikr D;k gS\
(A) 25 : 16 (B) 5 : 4
(C) 4 : 5 (D) 3 : 5

51. fdlh f=Hkqt dk dks.k x , (2x 5) 

vkSj (3x 5) gS] rks cM+s dks.k dks Kkr
djsaA
(A) 180 (B) 65

(C) 85 (D) 30

52. ;fn PQR  XYZ gS] rks dkSu lR;
gS\
(A) YZ = QR (B) XY = PR
(C) XY = QR (D) YZ = PQ

Space for rough work
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53. The daily earning (in rupees) of 10

workers in a factory are 8, 16, 19, 8,
16, 19, 16, 8, 19, 16. What is their
median wage?
(A) Rs. 17.50 (B) Rs. 8.00
(C) Rs. 19.00 (D) Rs. 16.00

54. The difference of one-fifth of a number
and 4 is 3. Which of the following is
the number ?
(A) 7 (B) 35
(C) 5 (D) –5

55. In the figure given XOZ and YOZ
form a linear pair. If p – q = 80 , what
are the respective values of p and q ?

(A) 50  and 130 (B) 130  and 50
(C) 120  and 60 (D) 60  and 120

53. 10 etnwjks dk nSfud osru ¼:i;s esa½
8, 16, 19, 8, 16, 19, 16, 8, 19, 16 gS] rks
ekf/;dk D;k gS\
(A) :0 17.50 (B) :0 8.00
(C) :0 19.00 (D) :0 16.00

54. fdlh la[;k dk 1@5oka vkSj 4 dk vUrj 3
gSA la[;k dkSu&lh gS\
(A) 7 (B) 35
(C) 5 (D) –5

55. fn, x, fp= XOZ vkSj YOZ ,d
jSf[kd ;qXe cukrs gSA ;fn p – q = 80
rks p vkSj q dk eku D;k gS\

(A) 50  vkSj 130 (B) 130  vkSj 50

(C) 120vkSj 60 (D) 60  vkSj 120

Space for rough work
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56. Find the alternative which will be the
mirror image of the following figure

57.Work : Joule : : Pressure?
(A) Ampere (B) Pascal
(C) Degree (D) Newton

58.A man is going towards the north, then look
three left turns. Now in which direction is
he going?
(A) East (B) West
(C) North (D) South

59.Find the missing term of the series:
1, 3, 7, 15, 31, 63, 127, ?
(A) 250 (B) 150
(C) 255 (D) 350

5 6 - fuEufyf[kr fp= dk niZ.k izfrfcEc D;k gksxk\

57- dk;Z : twy : : nkc ?
(A) ,fEi;j (B) ikLdy
(C) fMxzh (D) U;wVu

58-,d vkneh mRrj fn'kk esa tk jgk gSA og rhu ckj

ck;h vksj eqM+kA vc og fdl fn'kk esa tk jgk gS ?

(A) iwoZ (B) if'pe

(C) mRrj (D) nf{k.k

59- Js.kh esa vuqifLFkr in crkb;s&
1, 3, 7, 15, 31, 63, 127, ?
(A) 250 (B) 150
(C) 255 (D) 350

PART - III (APTITUDE) Hkkx&3 ¼rkfdZd½

Space for rough work
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Space for rough work

60. Find odd one out in the following
(A) Pistol (B) Sword
(C) Gun (D) Rifle

61.Figure (X) is embedded in one of the
options below. Trace out the figure which
contains figure. (X) as its part.

   (A)    (B)    (C)    (D)

60- fuEufyf[kr esa ls tks fHkUu gS mls crkb;s&
(A) fiLVy (B) ryokj
(C) cUnwd (D) jkbQy

61- fp= (x), fn;s x;s fodYiksa esa fNik gqvk gSA ml
mfpr fodYi dks pqfu;saA

   (A)    (B)    (C)    (D)
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Space for rough work

62- mfpr tksM+k pqfu;s&

(A) (B) 

(C) (D) 

63-;fn MUSK dk dksM 146816 gS rks ZERO
dk dksM gksxkA
(A) 10156 (B) 122912
(C) 181329 (D) 914561

62. Find the correct pair.

(A) (B) 

(C) (D) 

63. If MUSK is coded as 146816, then ZERO
will be coded as:
(A) 10156 (B) 122912
(C) 181329 (D) 914561
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64-fn;s x;s fp= dk izfrfcEc gksxk&

(A) (B) 

(C) (D) 

65- vuqifLFkr v{kj ^\* dks crkb;s&

(A) K (B) N
(C) O (D) P

64.If the dotted line shows the mirror, find
the correct image of the object from the
options (a), (b), (c) and (d).

(A) (B) 

(C) (D) 

65.Find the missing letter ‘?’

(A) K (B) N
(C) O (D) P

Space for rough work
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66. Choose the option in which given fugure

(x) is embedded.

(A)       (B)    (C)        (D)

67.In the following question, select a figure,
which when placed in the blank space of
figure. (X) would complete the pattrn.

(A) (B) 

(C) (D) 

66-mfpr fodYi pqfu;s ftlesa fp= (x) fNik gS&

(A)       (B)    (C)        (D)

67-fp= esa fjDr LFkku dks Hkjus gsrq mfpr fodYi
pqfu;s&

(A) (B) 

(C) (D) 

Space for rough work
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68-dkSu lk fp= ^^vkneh] firk] HkkbZ** ds chp ds

lEcU/k dks lgh iznf”kZr djrk gS&

(A) (B) 

(C) (D) 

69- Js.kh esa vxyh fHkUu gksxh&

1 5 9 13, , , ,?
3 9 27 81

(A) 
17
121

(B) 
16
243

(C) 
17
243 (D) 

16
121

70-fn;s x;s Js.kh esa vuqifLFkr in crkb;sA
3, 7, 15, 31, .......
(A) 63 (B) 53
(C) 43 (D) 73

68.Which diagram trates the relationship
among three given classes.
Man, Father, brother

(A) (B) 

(C) (D) 

69.  Which fraction comes next in the
sequence:
1 5 9 13, , , ,?
3 9 27 81

(A) 
17
121

(B) 
16
243

(C) 
17
243 (D) 

16
121

70. Find the missing term in the given series.
3, 7, 15, 31, .......
(A) 63 (B) 53
(C) 43 (D) 73

Space for rough work
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